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Sf3 SIS 2033-2029 PIHRY

[fST5 o1 Tetaa T 0.%0 W IO A ]
LShort Syllabus ]
0L IR0 &f & A CO, @ RIS 5, ¢-RATCTE O AL TSI GTENRA (FI0? [Ans: g)
(a) FRFEAIE RTToTCes SRIAES (b) FIRTE
(c) SRTTIES (d) BrAfRTBITeTeT Ans: 4
03. feeimenfon fem «ifde @2 ns:
(2) GOIY 21BN (b) TR (c) GPICaIFeT (d) CPICAAT D =TT
06. YIGF AoIH© @MBTe? [Ans: a]
(a) T (b) F1CS (c) T '8 FI0 (d) (I =7
07. TeCEin Bfewn 53 @HB? [Ans: b
(2) TG (b) SFF-3b 4IF (c) Bt e (d) FTReEST AR AT
08. VBN T (&I T2 Tl Z? [Ans: b]
(a) SRIFGE e (b) IR (c) IR Gacre Bfen  (d) RTreneiT wives Sfew
09. fRRTTT DNA (F oileF (FITT 2T IR (S aARFar iafs? [Ans: ¢]
(a) FTRTATHAN (b) TMV (c) Gunshot (d) SR @FRRT QoS
10. (N0 I8 ARCNYE 7B w37 [Ans: d]
(a) 1T B2 (b) filtem TeAm=
() I ©I2 SHIZT TeAm (d) ST afSte Seome
11, (I SIREAPT AL TR SR HLATAISg? [Ans: c]
(a) o (b) f&=r (c) fv= (d) ogmefvam
15. (M0 A9 K0 CPICT NS TIH? [Ans: b]
(a) TCGIBGA (b) ARSI (c) (FIArFS (d) SRS
16. MBI F4J2R Sl 71 JI? [Ans: b]
(a) RIS (b) @FTArS (c) et (d) g
17.  areisis @b omf @ srom? [Ans: d]
(a) 2o (b) fefore (c) Feesienfen (d) TS
18. (I SISt (IR 41t PITIICEIN =ed T o1 <ea? [Ans: ¢]
(a) CRATTFS (b) GBS (c) WIS (d) GrEtTR
19. ﬁfﬂ Wﬁ%mq [Ans: a]
(a) Ginkgo (b) Pteris (c) Thuja (d) Gnetum
20. U (I GO Fe? [Ans: a]
(2) ARG (b) g (c) ol (d) &
21. WWWWWWWC‘”@@?@W [Ans: c]
(a) Ca®* *+ (b) SO, (c) NO5~ (d) PO~ -
22.  ADP+Pi- ATP + H,0 9 (W9 (317 qF&izy sifad? . [Ans: c]
(a) Kinase " (b) Phosphatase (c) ATPase (d) Hexokinase |
U M) -N\ R0 AT AT e wmﬂ




DY)\ oo [E

23.

24,

25.

26.

27.

28.

29.

30.

31,

32.

33.

34.

35.

36.

A @9 (@1 B @ R R0H TR C 99, IW Q19 D @ e 20ang E @9 A, 6T B QA ©iF 1 D G MY A @7

Ao (57 [Ans: b]
(a) @M (b) 7Ry (c) *mfer=et (d) BIBITS! A

Qe @IEE? [Ans: b]
(a) Picture (b) Poster (c) Painting (d) Photograph

Refer 3dfrera I (It TRinTS 33-9 0 Il o9 3 ceRiE? [Ans: c]
(@K (b) E (c) F @G

W PLANET 99 (316 LETGXM 28 ©IZ GROWTH U3 TS (@15 ZJ? [Ans: a]
(a) PLTHXA (b) ZKHPMA (c) YXZMNR (d) QSLPRW

“gafeg I ¢ [Ans: c]
() FGEE (b) TR e (c) AEE T (d) 5

P RIA TIFAe 2T I B’ (1 407G FO17 [Ans: b]
(a) TSR T (b) SRS T (c) 2T 61 (d) T T

fAeireta e g iR ANCE Twizast 93 @i ? [Ans: c]
(a) Bt (b) T (c) STl ORIECER]

“Fofgiferer FIF 17 [Ans: d]
(a) &MY IR (b) FTE OTZR QEH  (c) S T (d) Frgfogact Ioapram
@G AF cogrenfieE e [Ans: a]

(b) 1~ < Br~ < SCN~ < (I~ < F?~ < §%~

()" <Br - <SCN- < ClI"<S57%<F~
(d)I- <Br~ <SCN~ < F~ < (I~ < §%~

(c) I~ < Br~ < Cl- < SCN~ < F~ < §%~

103 ST A0 [N5777 ST (G WR?
()1 ()2 )3 (d) 45
FATYIT: (T T o TG (2 | OT (e (T S CeG 20 1 5); Qe erad ;('j:'{':o;

e ST e rens Eaan 1 G fge SfHie [oEe eeT 2 01 @vs 3w ge 45,
SFATE TG 2rRG 3 51 To1e, 105 S Wb q@rarg e~ = 1+ (2% 2) +3=8F .

ST WA IR NG ©F 97 [Ans: a]
(a) 5.0 x 101%Kg (b) 5.0 X 108 ton (c) 5.0 x 1016Kg (d) 5.0 x 10 ton

27°C ST €32 IR bieet e AAfIe I SEed 500 em® R A b1 fZ7 AT F© SN q
SAfgIe T o fawd 7

(a) 327°C (b) 327 K (c) 650°C (d) 650 K

SHIY: (a); V, = 500 cm?; V, = 1000 cm®; Ty = 27°C = 300K

%= ¥_§ o T, =,‘r’—:T1 = 1% x 300 = 600K = 327°C

AT 4I3elT TS, AP TR T Q0o T fis 1ot o uhl ermeifS e 2o AE?  [Ans: ]
(a) 44 (b) 34 (c) 23 (d) 42

TUPAC fagmieiie faosa ctsife =t 2 [Ans: c]
Hg::@\CI'Ia

(a) 4-SREAAIHRF-CIOT-ER e (b) 1-SIZHCLI=ZT-3,5-BIRIAZE (<Afer

(c) 1-SIZATAI#NZ-2,4-IR AT @A (d) 4-RTAARA-T iR RIR e

D) \\\

it corn sy ... |



e O IR0 Wi e | |

(i) @ (ii) / R\ (iii) Q

H,

(a) i, ii (b) ii, iii (©) i, iii (d) FTaGTH
38.  sy2 Rfzmr v e 5 [Ans;
(1) 1° Trmice cf¥ v I e cfm dwaw (i) RiFm 52 wwet 7=m =
(iii) T Sffes et B0 fic 7=pf Redio
()1, i (b) i, iii (c) i, ii (d) FRGTA
39. fea e s [Ans: )
(i) 2SRTZ= ITE oy Rfeww @e o g =
(if) Referams el 1zre 1 mfere sorss owge) B! ofem w0
(iii) e RiTas aef ZHFE aeqe so @
(a) i, i (b) i, iii (c) i, iii (d) FTIGTE
40. fasg TS S [Ans: d]

(i) 1 e oo e pH W 3.0-9.5 @ Woig g sa1 <0

(ii) 87 pH T Z1 ¢t 3.0 7 IR 5T WC BRew N T
(iii) TR pH A1 & corew 9.5 @7 Toiea BT5 Coieet Wb T8 RSy WIS Tea 707, T Wfo7 &gl

Tzl fme 7w
(a) i, ii (b) ii, ii (c) CITTAIT (d) TRl
41,  GAIART TR woR W @ @R [Ans: b]
(a) Qfeefd (b) FIS (c) A= (d) TG 7 |
46. (TN THA ORYF ¢ TART (TSN G2 AN AETOIR AR 97 7@ 7%- G a7 No? [Ans: a]
(a) TETSHATS (b) TATRCTFTS (c) @4 (d) =irefer
47. (MG Fe?* g s Jreela Rurn
(a) 1s?25%2p®3s23p® (b) 1s22522p®3523p63d°
(c) 1s?2s22p®3s523p®3d> (d) 1s%2s22p®3s23p5
FAYR: (b); ,¢Fe: 15225%2p®3s23p3d°4s?
26Fe?t 1 1s%2522p63s23pf3d4s°
[Ans: a]

48. (I M STAT I Tfere REAARTTR 0, @7 cetraeera wifasyrer fRefr = <2

(a) Near-IR (b) Far-IR (c) Middle-IR (d) UV
49, 0.4 M HCI BI099 TIEITE *1o5dl ©F 9F X% (w/V) T© 3?7
(a) 1.46% (b) 0.40% (c) 1.48% (d) 0.80%

ANIY: (a); S = % LX= % = 0'4:36'5 = 1.46%

50. [Cr(CN)¢]?~ SIEH Cr 97 el AL I7?
(a) +1 (b) +3 (c) +5
ATIYI: (b); 49, Cr G TRA AR/ T =x ~ x + (—1) X 6 = -3

=>x—6=-3:%x=+3
2.0 mL 1.5 M NaOH 53¢ 932 1.5 mL 2.0 M NaOH 53¢ «[=% fif¥re Fae fif¥e gares v < 13?

(d) +7

51.
(a) 1.75M (b) 0.17 M ) 7.1 M d) 1.71M
VyS;+VyS; _ 2X15+15X2 _ 6 _
HAII: (d); S = ’Vle =TS = == 171M :
52,  fae3e way afSfew e @i 36 wiRd 0 [Ans: d] |
(2) T (b) IR (c) L& (d) =TT Cofremr

TS\ e



335 8 FHIYH: 3039 I-

53, SR e :
Y Jq01 2.5 mpﬁwmwwwww-fmemaoo mL H, 971 By 732

a) 30.46
(a) min (b) 34.46 m:n (c) 32.46 min (d) 36.46 min
HATY[: (b); lt=neF=t= nefF _ 214oox2 96500
54 Pt 3RS NaOH @ 175‘:[}1]_ 25xe0 34.46 min
' ‘ aOH <F T G SfgR fRraet
() 0, (b) OH~ ©N SIS R e [Ans: a]
55. QRGM TEMGIATDE WRAT G SAMIE Cofa? o e
(a) Chitin - [Ans: a]
56. OITEfGR U9 SAYE Wﬁﬁm(b) Cel‘amlulose cfcaning SRS {4) Stareh
(a) Labrum (b) Labi IR L ‘ [Ans: b]
57. Caudal artery %3 WIT&S (I W%?@Wm?m Rl (4) Mandible
(a) AT~ oy \ [Ans: d]
(b) T2+ () ST
58 o c) . (d) TS
. TIFET afE @R @ QEE eAeifTETE e za? (Ans: d]
“ (a) MUC%%;%H / (b\g) ?:—,(:nng;?“ (c) Argentaffin cell (d) Zymogenic cell
AT ATl ¢ Ans: b]
(a) G (b) CIE (c) fawdig |
: A d) wefEsarel
61. @M Piffer Agas SrrEndr e o 961 7 N [Ans: d]
(a) CGTSIAA (b) Fraifs (c) ARfEA (d) FIigEE
65. ‘O’ &FUAT WE (@M FToR FGTS & Mo ARET? [Ans: d]
(a) A+, A—, AB+,AB—,0 + (b) 0+,0 —
(c) 0+,0—,A+,A — (d) FRFATE
66. NITEIG-GT RIAIFPIER F& @b ? [Ans: d]
(a) I ~ARIH (b) Q1Y W Fl (c) T AT F (d) AT @ INE AR
67. Q"ﬂﬁqt—ﬁmmwwq [Ans: c]
(a) FGCEITRFeT (b) ZfTIEEe (c) @I (d)a 8 bTea3
68. COI SR MO FEPILER IIEFIO! SICETeIT Sl I [Ans: c]
(a) ECG (b) Coronary angiogram (c) ETT (d) Blood BNP
69. SETOSHITE &bt (FH (@R ACFH? [Ans: c]
(a) CHFRIT afFafErE (b) SIETSGEIT WIS
(c) GT7B1 (d) TR
71, (IINIG TR TH 747 [Ans: b]
(a) TTFIA (b) TN (c) DI (d) cora
72. m@mwwmwﬁaﬁwwm@mﬁﬁ? [Ans: c]
(a) GIICH5 (b) STIRCIFET (c) STeIgd (d) QBT
75 (TSI fee Seg Ao S (77 [Ans: b]
(a) AT TG WA (b) C(ITGe (c) fFe3 (d)To
76, CRITFICERI =S Vit (Rl TR Iy AI? [Ans: b]
(a) Porifera (b) Annelida (c) Cnidaria (d) Echinodermata
77. 1have no need more money. ] am inneed ___ more moncy. [Ans: ]
(a) of, to (b) of, up (c) for, of (d) up, of
78.  The word ‘Apoplectic’ means: [Ans: a]
(a) Angry and furious (b) Scared and anxious
(c) Confused and bewildered (d) Happy and joyful
79.  Correct synonym of ‘Haste’ is: [Ans: ]
(2) Slow (b) Rapid (c) Hurry (d) Hassles
80. Hewassoglad  came to our house to offer me his blessings. [Ans: ¢]
(a) that he at once (b) he at once (c) that he (d) that at once

D) -\
3 \
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| [j:xtra Syllabus ]
02.

04.

05.
12.
13.

14.

42,

43.

45.
60.

62.

63.

73.

74.

I 5 ECTR)) -\

64.

70.

1
f ;

o7 8 TN 0339

[Ans: b)
cAfbras @MD? ;
(a) SRS ORIUKIES (c) FIRTAS (d) TIOTCTS
STARE Froitea oty 72 [Ans: ]
(2) IR '@ TRFTZET SHIT 3R LT (b) ForT @ ofTREeIa Tt e
(c) HBT & BT TG T (d) et
@A Ree o Bfew? [Ans: b)
(a) Shorea robusta (b) Knema bengalensis ~ (c) T orminalia Bellirica  (d) Hibiscus tiliaceous
RIS FI ORI AT AWI? [Ans: ¢]
(a) Chlamydomonas (b) Sargassum (c) Polysiphonia (d) Chara
I Z@I Ay R 937 A A7 [Ans: a]
(a) A. xanthodermnus (b) A. brunnencens (c) A. campestris (d) Volvariella
TFIACOI AIRCPA V3- [Ans: b]
(a) Graphis scripta (b) Parmotrema tinctorum
(c) Cryptothecia rubrocinta (d) Diploicia canescens
(4T =T IS S TR It SeIr- [Ans: c]
(a) TRTGPE (b) ST (c) SR (d) GRITT =
b “SFOR (1S 97 TAMI? [Ans: d]
(a) AT (b) TRffT afe (c) O ~RifEe (d) ©2b T
@R S A7 [Ans: ¢]
(a) Na,0.K,0.Ce,03 X Si0, (b) Na;0.K50.Pb03 X Si0,

(c) K,0.Ca0 x Si0, (d) I 7T
Ty g @1 (AT e T 242 [Ans: a]
(a) IR (b) R (c) fFrefm (d) (I 7=
TS IR TR FAHS T L2 [Ans: b]
(a) €T SR (b) WP AT (c) 9 AR (d) b ASICZ
GIE vl =iafe e F 7 [Ans: b]
(a) Phonotaxis (b) Thigmotaxis (c) Galvanotaxis (d) Rheotaxis
ﬂmm‘@ﬁ@f@ﬂ?{ﬁaﬂwmﬂﬁ@@? [Ans: b]
(a) GUITCIT (b) CTTATSN (c) Grerer (d) I =
RIC=FRT35 B-(HIE0F AAFT FCI (I SIF6aG? [Ans: c]
(a) IgM (b) IgA (c) IgD (d) IgG
TICER 0 FHAAIICT *roFdl 9 F97? [Ans: a]
(a) 0.0 (b) 0.08 (c) o.5b (d) 0.24
G ALt qAFTA? [Ans: a]
(a) IS (b) SfEBH (c) *I=TBIR (d) =t
I i (AT RS s 2 st
(a) PR30S (b) SHTCGHI (c) AT (d) R

=8 AR ST TR obel...




i SIS AT 2033-2029 PIFIRS

[&fefb $=1 Tatam W 0.80 THE S0 ]

FShort Syllabus ]

01. R FRHF e T A @ F o7 2fire? [Ans: a]
(a) Mollusca (b) Echinodermata (c) Nematoda (d) Porifera

02. G (TR I 2 F (IR Igre? [Ans: c]
(2) (T (b) At (c) Siewt (d) TR

03. UPTHIG- O3 TR ST &9 @Hb? [Ans: a]
(a) 0, — FTEF — SGAN - Fif (b) 0, - *IFia@ - Tifew - Gifees
(c) 0, - BifPes - Rifesat - ey (d) O, = T — IR - sl

04. PR WA THOE IF TR I (@I 4w? [Ans: b]
(a) #TIEIRDTE (b) TRFfETS (c) Pifem-aeoifae  (d) 3

05. WMIRLR GINIGFOID T4 30 (1 (Ig?
(a) a cell (b) B cell (c) pcell (d) PP cell
HAAIYA: (IO CGR (R); 56 & T 6 cell (CT=01 1) |

06. coEAIE SofEge &N e aifive? [Ans: d]
(2) Chordata (b) Mollusca (c) Cnidaria (d) Porifera

08. SIS WE S HoTo Bed T (I fAfeans? [Ans: a]
(a) CRTAGTIAT (b) S (c) fercoforam (d) Te

12. 0+ &F9R & @ FLoR AGT 1% e AREa? [Ans: d]
(a) 0+,0 — (b) A+,0 + (c) A+, AB+,0 + (d) A+,B+,AB+,0 +

13. OS2 93 (&9 OTF SR o ATH? [Ans: b]
(a) CifEFo (b) TGRS (c) e (d) @veg

14,  FYIFIS AT 9 T (@ TEDAIE? [Ans: d]
(a) AT (b) 2eHIFS (c) TTAPNZG (d) fer=ernes

15.  Sfga Symendal s gafqe ? [Ans: a]
(a) 4T A Ho-5d% AR T (ofe (b) €7 T ¢0-90% FAR 2 I
() 47 Jom FreIS AT (d) I w7

16. b IRCad Fi%d TG SpEfe ST el o fferga? [Ans: ]
(a) X0 (b) R00 (c)woo (d) s00

18. WINAATR TF SIE6EF G hlal SfYa AN Fof6? ' [Ans: a]
(a) 8 (b) Y (c) R (d) ¢

19.  ZyraFGz okt Al corita sTaee e ? [Ans: b]
(a) R (b)w (c) 8 (d) Y

22, ernfon Tesifa ¢ At egfon it 7 S &7 |Ans: d]
(a) T (b) (T (c) STTEA (d) =T

25.  80mL 0.1 M Fe,(S0,); BT 1.0 A IS 2fZS I3 F=40091 FeS0, @ Rl 3906 T G5 98 10
(a) 7720 (b) 772 (c) 1544 (d) 1233

TAYE: (c); Fe3t + e~ — Fe?t;e =1
3 . _ It _ -3 1xt _ _
Fe'* @ G A, n = — = (80 x 107 x 0.1 2) = Txoasos = 0016 = t = 1544

BTy - vt oo |




| (a)@%ﬂﬁmmﬁ; (b) *TeTSIfASE @Y
27.  PFg 93 SIfAifes stoe (praiB?
| (a)sﬁ:mmﬁﬁmﬁ@w (b) “ec T PRI
(d) Tl ey

(c) WBSERY
AAYIN: (a); PFs sp3d Afaw® @qiet
(d) 4.700 B.M.

. 28. [Fe(CN)4]3~ @3 MMitfb GITas (@iG?
(a) 1.732 B.M. (b) 2.828 B.M. (c) 3.873 B.M.
TAYI: (a);
3ds 4s 4p
Fe'=(ar) [T A1) [] [T.[]
RY CN~ *If &= fosis
3ds 4s 4p
Fe"=[Ar) (T[1[1[1]1] []
Wm%mwwmmwmm, m=ynn+2)=,/11+2) =1.732
30. eIt IsE @ Sieet co, "I ¥y Rel 22kgm = 191 g Ga 11°C ity & M TG F Q9
(a) 25.52 kgm 3 (b) 25.52 gm™3 (c) 21.15 kgm 3 -(d) 21.15gm™3
TAIGE: (©); dy Ty = d,T, = d, = 2xd; s d, = o x=21.15

32. TUPAC FRITpiies faesg cisifi iy o

O~ ~ *
(b) 1-2r3 ARCFITH-2-3

(a) 3-&%%
c) 6-f
)6 ﬂri?rﬁmrqzﬁm (d) 1-RIZeT M3 thirasy-5.55

W‘W{ (a); 6®_CH3

\ (+ / /A R . . o e L el : T R e i e g s i
a:ti;'.i;ii ) ; ':'_'. ' ". e . i v '-.‘. Pty ot ]
p LReisidy ! R S NIy Ve —— "““'"\‘ R
: & $lvy . e ]
T S/ (5 ‘
26- E@g - . ﬁ : ' < Y R
| (c) FieN 1Y
R
A
i
%
P
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39.

42,

43.

45,

46.

49.

50.

51.

52.

53.

57.

38.

59.

60.

61.

62.

63.

64.

o 3 FYEH: 2033-29 I-

RrerFfed O WoNd & @AM Z? [Ans: d]
(a) ARER (b) fa=6 (c) oz etz (d) IS

Tfera T4 JH0e @ A IR0 T2 [Ans: a]
(a) FED (b) G (c) Tefmt (d) FRGTE

@RI MR 28 &7 [Ans: a]
(a) TIT 1% (b) TMACEFTS (c) AT (d) TR

@R P 97 AfST 3G [P [Ans: b]
(a) 1522s5%2p63s22p®4s?t (b) 1s22522p®3s23p3

(c) 1s22522p®3s23p®4s? (d) 1s22s22p®3s23p?

AT AR SR (] 07 [Ans: b]
(a) 425 — 450 nm (b) 500 = 575 nm (c) 450 — 500 nm (d) 625 — 780 nm

&fS 1000 mL %3 TGS FLIR (I AN & 0 [Ans: ]
(a) (e (b) *re< T (%) (c) (T (d) fif*as (ppm)

(A Ee *W1d 73- [Ans: b]
(a) Cl, (b) Hz (c) F, (d) H202

(I SRS 2T (TITS FeTd To? [Ans: c]
(a) Ephedra (b) Ginkgo (c) Welwitschea (d) Sequoia

oo FIETbIA @ FRZ© AfE-TTT pH AIHES F07? [Ans: b]
(a) 8.¢ (b) ¢.¢ (c) u.¢ (da.¢

BT FRCRICSH AIRC (T & st <41 277 [Ans: c]
(a) cspB (b) At NHXI (c) nif (d) luciferin

FIE O (FII0 A7 [Ans: b]
(a) TEmore #idr 72 = (b) fRera caf¥ieesa et 206 =t

(c) o= 9o (d) T et foqel ST

V3T T S il SIRA- [Ans: c]
(a) Ebola (b) Nipah (c) Zika (d) Adeno

{RNA-3 &0 SN @ffre J204 @F- [Ans: d]
(a) CAC (b) GAA (c) ATT (d) ACC

I (I AT (I SFoa? [Ans: b]
(a) Yo S (b)q0 S )0 S (d) %o S

@IRGTS T2ANRGI (G T 27 (Ans: a]
(a) SRS (b) ARSI (c) LRI (d) Fefgeram
e B fefea Somiee e 2 @mib? [Ans: d]
(a) T aearET (b) GEFITAITSI o) FefFmm e (d) ermifbw omid
S TBTEIENS ST RNA 9F wiftiet 367 [Ans: b]
(a) 80% (b).¢0% (c) Yo% (d) 0%

DNA W‘IWWW@F\G@WWW DIPISY, [Ans: a]
(a) R (b) 8 ()Y d) v

I S T TS AR? [Ans: d]
(a) 71 (b) I (c) Flom (d) FRFF
IR (I SO Fe? [Ans: a]
(a) TCRIT (b) &fd ORES (d) Fferar

N -
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66.

67.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

*ffed 150w B T @I ~ARRIGEE?
(a) Moraceae (b) Poaceae

e @1 SRS wEorst T Afers oifye ?

(c) Coniferaccae

(a) Nat (b) Fe?* (c) SO2* (d) NOs
W:mﬁ?mﬁi);ﬂﬁ@@wso%;f:t [Ans: a]
TUIATST-11 @ Ti5fS g =3¢ 20 [Fend?

(a) *IF T (b) PS-II RIT (c) NADP (TF (&) ST i (e hnse
‘BIRFR’ A AEE &7 @RI (W Q=r?

(m (b) BIFR F1fS (c) STl TG (d) GRICAITD = (Ans: o
‘CHITT BT WIS - T CHIITS 9T IS ¢ f[Refe - -

(a) =, 5 (b) T2, PO (©) T, ger i i [Ans: d]
(a) Bomm (b) Boifire (c) FAF (d) @i

T ST AL, G (TR #iT (LT (- BB F1a? [Ans: c]
() TS (b) TR (c) R (d) y&i

ermw m &R FIT TR?

(a) 67 (b) 99 (c) 87 (d) 74

FTGA: (a); 26+ (2 +6) = 34;34+ (3+4) =41; 41+ (4+ 1) = 46; 46 + (4 + 6) = 56

56 + (5 + 6) = 67

T, VAT Q1 %, A G TN ", o AT I8, TGN F, T 992 [Ans: c]
(a) WA (b) wif (c) Aot (d) 7ifS

LM% I GIIEFOIT Srox T ANHE SoN STF FIF? [Ans: a]
(a)H (b) S () F (d)J

‘DESENSITIZATION’ *[(% 9% 9192 4 It GFIfeaae 519 6 i *194i5 0ol vt T 712 [Ans: b]
(a) DESTINATION  (b) NOTATION (c) INSTITUTION (d) DETAIN

Do not tyrannize _____ the poor.

(a) upon (b) on (c) over (d) of

(d) Dipterocarpaccac

Solution: (c); tyrannize over = to use your power to treat somebody in a cruel way.

The word ‘Awestruck’ means:
(a) Feeling a sense of wonder and amazement
(c) Feeling a sense of anger and frustration
Solution: (a); Awestruck =1 (T3 fifSe et
Correct synonym of ‘Diminish’:

(a) Increase (b) Old

Solution: (d); Diminish = Decrease = 23 “jhag
My sister informed me that ]

(a) I am wanted (b) I was wanting

(c) Overproduction

(b) Feeling a sense of fear and dread
(d) Feeling a sense of sadness and desperate

(d) Decrease

in the club for an important discussion there.
(c) I was wanted

(d) I wanted

Solution: (a); (ITTY Sub ordinate clause 9 past indicator (3, CT0RQ &&7 I was wanted =T 1 am wanted A1

0 ) .\
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07.

09.

10.

11.

17.

20.

21.

23.

24,

29.

31.

38.

40.

41.

47.

48.

54.

55.

56.

68.

o 8 FEIYE: 033-39

( Extra Syllabus

qaST ST B A WA |Ans: b]
(a) ST AATZ (b) T MR (c) O FSBIZ (d) 8§ AT

TITA ST (I G0 BIIT (AT q? [Ans: a]
(a) Tropotaxis (b) Telotaxis (c) Menotaxis (d) Klinotaxis

WAL (514 (W SN T (A i3 272 [Ans: a]
(2) QTBTET (b) TS Ol (d) RITAI 77

TG S 2o SofS? [Ans: a]
(a) IgE (b) IgA (c) IgG (d) IgM

LR Y (G AE a9 F97? [Ans: c]
(a) 0.09 (b) 0.0¢ (c) 0.09 (d) 0.05

FAUCER P! [z T2 @ 77 [Ans: ]
(a) SAETCHAIF (b) FZLAHTE (c) Tt (d) e

G FEFICTE el e = @ & l? [Ans: c]
(a) FPRRDIf (b) VR (c) ATRIAZATG CORIE ]

@i gera el Fidens fame = [Ans: a]
(a) KMnO, (b) K;Cr;05 (c) K4 [Fe(CN)s] (d) H20,

ATREBRTS SR13%S LiAlH, & Noa @miva 39 2l e s e [Ans: b]
(2) NaHCO;4 (b) MgSO, (c) Na,CO;, (d) Ca(OH),

AT (I LA T 1o AT [Ans: a]
(a) Guenfeam (b) FresiPE (c) Beotries (d) CTETATS

T Freneransm e e g 0; e A o1e Ifad Ta 7o? [Ans: d]
(@) 1—2% (b) 0.2 — 0.3% (c) 0.1 — 0.3% (d) 0.4 — 1.0%

@R (1 [T cofdd SoAmIE w47 [Ans: d]
(2) CORTIFT (BT (b) STFTCPIRA (c) Q= (d) Foafee afie

(@A CTeT FT2AR? [Ans: a]
(a) Nay0.Al,05.6Si0; (b) Na,0.Al;03.55i0; (c) Ca0.Al;03.65i0;  (d) Ca0.Al,03.55i0;
WWWWWWWWWWWWW- [Ans: c]
(a) (&= (b) e (c) oS (d) 3T

TS Tfen &2 [Ans: c]
(a) Holarrhena sp. (b) Asparagus sp. (c) Excoccaria sp. (d) Miliusa sp.

e 8 T B e cram? [Ans: d]
(a) T oif® (b) =ireT Farged (c) e foopase Poifde (d) et

Pithophora 99 CH9- [Ans: d]
(a) STETITAIC™IR (b) AT (c) STHATHE (d) SreiRfn

@I IS ik ? [Ans: c]
(a) Cryprothecia rubrocinta (b) Ciadonia leporina

(c) Flavoparmelia caperaia (d) Diploicia canescens

GBI TN (@6 ? [Ans: b]
(a) Cetraria islandica  (b) Endocarpon miniatum (¢) Rocella montaignei  (d) Cladonia rangiferina

I (19 4304 ferfe? [Ans: b]
(a) S (b) 5= (c) Tg fifoe (d) I 7

- o EERI)) \\ .~




